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x=linspace(0,2*pi,30);

y=sin(x); a

plot(x,y);

g RaniE.2. 1.2

Bt 2 AR —ANARR A R A 2k
y=sin(x) fly=cos(x)£r[0,2x] L[\ . ol
A o

x=0:2*pi/30:2*pi; y=[sin(x);cos(X)]; oal
plot(x,y); >
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x=0:2*pi/30:2*pi; y1=sin(x); 0d
y2=c0s(x);
plot(x,y1,x,y2); o8 : : . :
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x=linspace(0,2*pi,30);

y=sin(x); plot(x,y);
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hold on, z=cos(x); plot(x, z); hold off
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plot(x,y, ‘color-linestyle-marker”)
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plot(x.y, ‘y:0’)
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plot(x,y, ‘color-linestyle-marker’, ‘linewidth',width, 'markersize’,size)
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x=linspace(0,2*pi,30);
y=sin(x);
plot(x,y, linewidth',2);
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x=1:8; y=c0s(x);
plot(x, y, '.','markersize', 3)
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BN : x=linspace(0,2*pi,30); y=[sin(x);cos(X)];



plot(x,y); grid; xlabel('x"); ylabel('y"); title('Sine and COsine Curves";

text(3*pi/4, sin(3*pi/4),\leftarrowsinx");

text(3*pi/2, cos(3*pi/2),'cosx\rightarrow','Horizontal Alignment', right");
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x=linspace(0,2*pi,30);y=sin(x);z=cos(X);

u=2*sin(x).*cos(x);

x1= linspace(0, pi/2-0.1,30);

x2= linspace(pi/2+0.1, 3*pi/2-0.1,30);

x3= linspace(3*pi/2-0.1, 2*pi,30);

y1=sin(x1)./cos(x1);

y2=sin(x2)./cos(x2);

y3=sin(x3)./cos(x3);

subplot(2,2,1),plot(x,y),title('sin(x)")

subplot(2,2,2),plot(x,z),title('cos(x)")

subplot(2,2,3),plot(x,u),title('2sin(x)cos(x)")

subplot(2,2,4),plot(x1,y1,x2,y2,x3,y3),title('sin(x)/cos(x)")
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% 1.5 1 H %y = Xsin X fif4r s = jox(xsin x)dx 7E X a) [0,4] Lfhigk (4 1.8).
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clf; dx=0.1; x=0:dx:4; y=x.*sin(x); s=cumtrapz(y)*dx;
plotyy(X,y,X,s), text(0.5,0,\fontsize{14 Pity=xsinx")
sint="{\fontsize{16}\int_{\fontsize{8}0}{ x}}'
text(2.5,3.5,[ \fontsize{14 P\its=",sint, \fontsize {14 H\itxsinxdx"])
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